S/ GHE

SKG Vibration, Shock and Motion Control Products
Catalog

-For Industrial Applications

SKG #xz. MEHFEzIIEH = mB %

- Tk iy P e

ver. 2024.04




© 2024 - SKG Mi#XFfE . Printed in CHINA (Rev.03 2024/03/13)



S/ G EE CATALOG B &

TABLE OF CONTENT

General Information

How to Use this Catalog 2
Custom-Engineered Solutions 2

Engineering Guide

Application Selection Guide 3

Sandwich Mounts

Large Sandwich Mounts 4-6

Conical Mounts

Conical Mounts 10-11

Two-Piece Mounts

Two-Piece Mounts 14-17
Tightening Torgue Charts

Tightening Torque 22-25
BMEix A

SRl e AR ™ B % 2

EHIRRFR 2
1#Ei5m

R i BIFE RS 3
= AR R

RE = BE R 7-9
BB

AR IR 12-13
XA TR R

X TR R 18-21
Zie R EHIER

2ie REHER 26-29



S/ G EE CATALOG B &

GENERAL INFORMATION

How to Use this Catalog

Vibration, shock, motion and noise control problems are a fact of life in the design and
operation of many types of equipment today. SKG can help you solve such problems
with a wide range of control products for applications that include electric motors; fans
and blowers; vibratory conveyors and other material handling equipment; pumps,
compressors, and refrigeration units; measuring instruments; construction and
agricultural equipment; electronic devices; and punch presses, lathes, and other
industrial equipment.

Custom-Engineered Solutions

SKG offers standardized products to meet most applications, but some control problems
require specialized solutions such as a custom-designed mount or a combination of
SKG products. SKG’s vibration and noise control experts can analyze your individual
requirements and provide the most effective and affordable product solutions.

M1 IR

W E A mE X

WS, ARITMEASMERN RSN, Jks). Al SR RYIZH] [0)3 A ol g
%o BEASREZHM TV RERINIES M PERRX—RIIEE, 815 B3
M, RBMeAA,; HashmElMEtERiERE, R KRG NA, NEX
#r, LREMAVEE, BFRE HKR. FRUEREMTIVESES.

EHERTTE

BERHNRELT mTTRERS B ANER, BERLEEHDETRIH I ENRARTT
X, PINERRITTIERT R BE S RAE. BENIREEHITIREES T X T
BRRERB KT, HREBRASHELFNBRTER™ M,



CATALOG H3x

L
Q
>
Q)
)
<
o
L
=z
M =
7 MO,
mLN
L

Application Selection Guide

slaureluo) buiddiys

S9110SS900Y 3|2IYdA

siolelqin/siaeys

siossasdwo)/sdwnd

SJ0]0|N\ 211109(3

sassald ‘Bulln ‘Bunuiid
‘yound — Aiauiyoep

snun Buijooy/BuiresH

siamo|g/sued

s19s dwnd/uao auibug

saulbug

s10AaAu0)D

sged

Conical Mounts

Two-Piece Mounts

AO1 Series

Sandwich Mounts

Large Sandwich Mounts

T8

R i B9

BEREUT

+) il

R/

145G H %

18

Heht
[H¥E g BRI

BRIz S0

T3/

B /BB EY

[431:2-4

5y

g

i

i

PO W €7
A0l %%
ey g7

RE = IR RR




S G #E CATALOG H#

SANDWICH MOUNTS

Sandwich Mounts

Featuring: Large Sandwich Mounts

SKG Sandwich Mounts are designed to protect equipment and machinery against
damaging vibration. This family of mounts has excellent capacity for energy control.

Constructed with high-strength bonds and specially compounded elastomers, these
mounts provide high load-carrying capacity and assure long life.

The simple design and unitized construction provide low-cost mounting systems which
are compact, lightweight, easy to install and maintenance-free.

These mounts are available in several size groups to suit a variety of applications.

Typical applications for Sandwich Mounts include business machines; motorcycles;
heating, ventilating and air conditioning equipment; light motors; appliances; shipping
containers; feeders; compactors; and vibratory rollers.

Features and Benefits

e Economical

e Compact and lightweight

e Easy toinstall

e Maintenance-free

e Variety sizes, customized development
e Unitized construction




SV G EE

SANDWICH MOUNTS

Large Sandwich Mounts

Table 1 — Specifications and Dimensions

CATALOG H3x

Shear Part Dimensions
anilger Type EIas(tSmer Sh{l;)i(énll;:d SprangSRate oD Thic?(nes . Hc()zle Sc;rev?/l—!ole S(.:revl\fll-!ole
5 distance dimension dimension
Ib N Ib/in |N/mm | in |mm] in |[mm]| in |mm]| in mm in mm
R0201-200 B NR 1124 | 5000 | 1143 | 200 |[7.72| 196 |3.47| 95 [6.30] 160 [0.51 13 / /
R0201-240 B NR 1349 | 6000 | 1371 | 240 |[7.72| 196 |3.47| 95 [6.30| 160 [0.51 13 / /
R0201-280 B NR 1574 | 7000 | 1600 | 280 |[7.72| 196 |3.47| 95 [6.30] 160 [0.51 13 / /
R0201-320 B NR 1798 | 8000 | 1829 | 320 |[7.72| 196 |3.47| 95 [6.30| 160 [0.51 13 / /
R0201-380 B NR 2136 | 9500 | 2171 | 380 |7.72| 196 |3.47| 95 |6.30| 160 |0.51 13 / /
R0202-280 D NR 1574 | 7000 | 1600 | 280 [6.69| 170 [3.54| 90 [8.07| 205 [0.55 14 / | M20*2.5
R0203-200 C NR 1124 | 5000 | 1143 | 200 |6.50| 165 |4.02| 102 / / / M20*2.5 | / [ M20*2.5
R0203-230 C NR 1293 | 5750 | 1314 | 230 |[6.50 | 165 |4.02 | 102 / / / M20*2.5 | / | M20*2.5
R0204-170 B NR 899 | 4000 | 914 170 |7.05| 179 |4.02| 102 (5.75| 146 | 0.51 13 / /
R0204-200 B NR 1124 | 5000 | 1143 | 200 |7.05| 179 |4.02| 102 |5.75] 146 [ 0.51 13 / /
R0204-245 B NR 1371 | 6100 | 1400 | 245 |7.05| 179 |4.02 | 102 | 5.75] 146 | 0.51 13 / /
R0205-215 D NR 967 | 4300 | 1229 | 215 |6.50| 165 (2.99| 76 |7.09( 180 [0.51 13 / M12*2
R0205-265 D NR 1191 | 5300 | 1463 | 256 |6.50| 165 |2.99| 76 |7.09] 180 |0.51 13 / M12*2
R0206-180 A NR 809 | 3600 | 1029 | 180 |6.30| 160 [2.95| 75 / / /| M20*2.5 | / | M20*2.5
R0206-230 A NR 1034 | 4600 | 1314 | 230 |6.30| 160 [2.95| 75 / / /| M20*2.5 | / | M20*2.5
R0207-200 E NR 1124 | 5000 | 1143 | 200 |[7.68| 195 |3.78| 96 [9.45] 240 (0.71 18 / /
R0207-240 E NR 1349 | 6000 | 1371 | 240 |[7.68| 195 [3.78 | 96 [9.45| 240 (0.71 18 / /
R0207-280 E NR 1574 | 7000 | 1600 | 280 |[7.68| 195 |3.78| 96 |9.45] 240 (0.71 18 / /
R0209-120 A NR 337 | 1500 | 686 120 |4.13| 105 |2.17| 55 / / / M16*2 / M16*2

@ NR = Natural Rubber




SUG#E

SANDWICH MOUNTS

Figure 1 — Part Dimension — Type A

qy

) O KE

O/

1
i
L

Figure 3 — Part Dimension — Type C

CATALOG H3x

Figure 2 — Part Dimension — Type B

C
O]
O
< O o 0
O
O

Figure 4 — Part Dimension — Type D

R
=]

/f

[T




S G#E CATALOG H#

= IR R R

=R RIRE
FEd: KR B RIRR

SKG ZHiaBirE R AL AHNEEETE N, MMERFYIM. RERZBIAE TR,
=Z AR AEsa ST AR, AEEN®R BEAEDK.
EUERNRITT AR BAERNNENERT RGHNMAE, BERFREVENEEZ. BE. 5T
TR BRYER.

BRI R SR TG, EE8MNEA.

HARYAERE mlbylf. BEE. H#ig. BRA=IF (HVAC) &&. BEHI. 8
ar. BEEREN. HRE. EXAARENERSL.

FHERIL AT

o M

o RRRE

o HTREK

o U

o AEZEMRTEIE, JEHTE
o BHAREN




S G#E
= SRR IR

AE =R RRE
1 -BARAFFIR T

CATALOG H3x

:p7)] FHRN
e S ﬁﬁ N R ) B ¢ B Wi
@ E3 ] Ks SEEGELK Er FLEE St R~ itk R~
b N Ib/in |N/mm | in mm in mm in mm in mm in mm

R0201-200 B NR | 1124 | 5000 | 1143 | 200 | 7.72 | 196 | 3.47 | 95 | 6.30 | 160 0.51 13 / /
R0201-240 B NR | 1349 | 6000 | 1371 | 240 | 7.72 | 196 | 3.47 | 95 | 6.30 | 160 0.51 13 / /
R0201-280 B NR | 1574 | 7000 | 1600 | 280 | 7.72 | 196 | 3.47 | 95 | 6.30 | 160 0.51 13 / /
R0201-320 B NR | 1798 | 8000 | 1829 | 320 | 7.72 | 196 | 3.47 | 95 | 6.30 | 160 0.51 13 / /
R0201-380 B NR | 2136 | 9500 | 2171 | 380 | 7.72 | 196 | 3.47 | 95 | 6.30 | 160 0.51 13 / /
R0202-280 D NR | 1574 | 7000 | 1600 | 280 | 6.69 | 170 | 3.54 | 90 | 8.07 | 205 0.55 14 / M20*2.5
R0203-200 C NR | 1124 | 5000 | 1143 | 200 | 6.50 | 165 | 4.02 | 102 / / / M20*2.5 / M20*2.5
R0203-230 C NR | 1293 | 5750 | 1314 | 230 | 6.50 | 165 | 4.02 | 102 / / / M20*2.5 / M20*2.5
R0204-170 B NR 899 | 4000 | 914 170 | 7.05 | 179 | 4.02 | 102 | 5.75 | 146 0.51 13 / /
R0204-200 B NR | 1124 | 5000 | 1143 | 200 | 7.05 | 179 | 4.02 | 102 | 5.75 | 146 0.51 13 / /
R0204-245 B NR | 1371 | 6100 | 1400 | 245 | 7.05 | 179 | 4.02 | 102 | 5.75 | 146 0.51 13 / /
R0205-215 D NR 967 | 4300 | 1229 | 215 | 6.50 | 165 | 299 | 76 | 7.09 | 180 0.51 13 / M12*2
R0205-265 D NR | 1191 | 5300 | 1463 | 256 | 6.50 | 165 | 299 | 76 | 7.09 | 180 0.51 13 / M12*2
R0206-180 A NR 809 | 3600 | 1029 | 180 | 6.30 | 160 | 2.95 | 75 / / / M20*2.5 / M20*2.5
R0206-230 A NR | 1034 | 4600 | 1314 | 230 | 6.30 | 160 | 295 | 75 / / / M20*2.5 / M20*2.5
R0207-200 E NR | 1124 | 5000 | 1143 | 200 | 7.68 | 195 | 3.78 | 96 | 9.45 | 240 0.71 18 / /
R0207-240 E NR | 1349 | 6000 | 1371 | 240 | 7.68 | 195 | 3.78 | 96 | 9.45 | 240 0.71 18 / /
R0207-280 E NR | 1574 | 7000 | 1600 | 280 | 7.68 | 195 | 3.78 | 96 | 9.45 | 240 0.71 18 / /
R0208-120 A NR 337 | 1500 | 686 120 | 4.13 | 105 | 2.17 | 55 / / / M16*2 / M16*2

@ NR =R A%




SI/AG e E CATALOG B %
AR

B1- FHRT - XHA B2- FHRT - XEB

o«
i
w

O

/’”@“\\qy

- B
iﬁOCO; F:E%I% < O 0 O
\° /) ¥4 - o

) ) e -
B3-FHRY-22£EC B4- FHRY-222D
® B
. -~ B—— A Iy L H
e ~. N 4 o =
) \ﬁ | B ] [ & \
p Ve (b?\ ‘ [ P ‘:. i . .‘ =] E (]
\ - \ ; | T:E: ! _}E‘:‘I ‘\\ X /
o / ] el
\\ g P // i - N \ﬁ/ - N




SV GEE CATALOG B &

CONICOL MOUNTS

Conical Mounts

SKG Conical mounts provide effective vibration isolation and noise attenuation with a
simple, robust mount design. Consistent performance, high load bearing capabilities and
a choice of radial stiffness characteristics are key features of these mounts.

Conical Mounts are appropriate for both on-road and off-road vehicles. Applications
include cab mounts and engine and transmission mounts for trucks and buses, and
construction and agricultural vehicles.

Features and Benefits

¢ Provide strong, dependable performance

e Have a typical static deflection of 5 mm

e Offer a choice of radial stiffnesses

e Can be snubbed

e Can be safetied with the use of snubbing
washers

¢ Withstand R.O.P.S. loads with the addition
of support rings

e Are easily installed

e Exhibit long, highly reliable service life

Figure 1

10



SV GEE CATALOG B &

CONICOL MOUNTS

Specifications and Dimensions

Rated Rated Axial Axial RaF;jllaI RaRdzlaI Recommended Bolt Irgor(rjnatlon
Axial Axial Static Dynamic . . Size rade or
Part Durometer | giatic Static Stiffness | Stiffness® Static Static Class
Number Shore A . Stiffness | Stiffness
Load Deflection N/mm N/mm N/ N/ ish SAE | SAE
) ) mm mm | Englis Metric
kN (Ib) kN (Ib) (Ib/in) (Ib/in) (Ibfin) (Ibfin) J429 | J1199
} 800 800 - o
R0501-210 35 1.67 (375)| 5.0(0.20) | 210 (1200) | 215 (1230) (4570) (4570) 3/4 M20
1200 1200 " "
R0501-310 40 2.4 (540)| 5.0 (0.20)| 310 (1770) | 340 (1945) ©855)|  (6855) 3/4 M20
i 1600 1600 - o
R0501-400 45 2.7 (607)| 5.0 (0.20)| 400 (2285)| 470 (2690) (9140) (9140) 3/4 M20
2000 2000
R0501-500 50 3.9(880)| 5.0(0.20)| 500 (2860)| 600 (3430) (11420) (11420) 3/4 M20 b b
2400 2400
R0501-590 55 4.6 (1040) | 5.0 (0.20)| 590 (3370)| 725 (4140) (13700) (13700) 3/4 M20 *x *x
2800 2800 - o
R0501-690 60 5.3 (1200)| 5.0 (0.20)| 690 (3950) | 850 (4855) (16000) (16000) 3/4 M20

* For tightening torque information, refer to Tightening Torque Charts @ Data at Axial Rated Static Load, with input +0.3 mm (0.01 in) at 5.0 Hz.
section.

** Tightening torque 3/4 bolt = 320 Ib-ft; M20 bolt = 430 N-m dry.

¢21.13 [3.31)
/~¥20.87 ©39.50
/ 1832 [1.56]
’/" 822
THRU 33 35
[1.30] (0.14]

694 92 7‘, i
273 1362] (5]

@ 28

[(1.100 | ggos
(3.25]
MAX.
SOCKET @
87.0/85.0
(3.43/3.35)

N

11



S G E CATALOG B &

R IRE

MESEAAREX AR, TENRIT, RHEEANKSIFBENERIE, RANEES
REM. BEEAZENUARZENETIENR M.

HARREEH T ABERNEABER., HERRETHATAE, 2R %E I8
ERUVEWMNERE., XMUARZTEHNRE.

FFERIL
o HHMLR. TTERMRE
o HAIERZSTH H5mm
o ZEINIM ] IE
o T HRAIINGE
o TIXAMRMEE, XN, RIERE
o BINXIEIR, TIAZR.O.PSHE
. BFRE
e FAFWIK. UREMS

A1

12



S G EE CATALOG B &
B R

BAHEESRK T
i | WEE | A | s | sesEEo | BORt | EEEE Rf wg%;é;msﬁu
wan | S5 | W | G |y | ownm | TR | BRI S
Vo) | ko) | abiny | bim | MMM NI ey | gy | SAE | SAE
R0501-210 | 35 |1.67 (375)| 5.0 (0.20)| 210 (1200)| 215 (1230) (4587%? (4587%? 34 | M20 | m | e
RO501-310 | 40 | 2.4 (540)| 5.0 (0.20)| 310 (1770)| 340 (1945) (6132505(; (6182505(; 34 | M2 | = | =
RO501-400 | 45 | 2.7 (607)| 5.0 (0.20)| 400 (2285)| 470 (2690) (911%(; (9112,%(; 34 | M2 | = | =
R0501-500 | 50 | 3.9(880)| 5.0 (0.20)| 500 (2860)| 600 (3430) (112402%? (112402%(; 34 | M20 | m | e
RO501-590 | 55 |4.6(1040)| 5.0 (0.20)| 590 (3370)| 725 (4140) (1327‘:)%? (13274(')%(; 34 | M20 | m | e
R0501-690 | 60 |5.3(1200)| 5.0 (0.20)| 690 (3950)| 850 (4855) (1620%%(; (1620%%(; 34 | M20 | w | e
HREEMEEA, HEH B R 5 O WEESEERE, FE03mm (0.015) HIES HzIH)

R,
** 3/4 8244 (% E4145=320 Ib-ft; M20 bolt = 430 N-m FZs.

2113
~950.87

" [832

/|22

12,6 /  THR
8121~ v

N

[Zgg @ /\ﬂ(
694 9
/ | [273] [3.62]
© 9 -

e

L 827 —
(3.26)

105
[4.13]

13



S/ GHE CATALOG B &

TWO-PIECE MOUNTS

Two-Piece Mounts
Featuring: AO1 Series

SKG Two-Piece Mounts are designed for applications involving severe dynamic forces in
the static load direction, as well as the rebound direction. Travel is limited in both
directions by rubber in compression which provides snubbing.

These mounts are designed to support engines, cabs and accessory units, and
accommodate frame racking and twisting while isolating vibration and absorbing shock.

Typical applications for Two-Piece Mounts include on-highway, off-highway vehicles,
construction and industrial machines.

Features and Benefits

e Dynamically effective in all directions

¢ Prevent mechanical transmission of noise

e Accommodate misalignment and distortion

¢ High rebound capacity

e Easy to install with common tools

e Standard bolt torque assures proper assembly
e Top and bottom parts alike, cannot be misassembled
¢ Fail-safe assembly

¢ Sized for English and Metric bolts

e Long dependable service life

e Economical

14



SV GEE CATALOG B &

TWO-PIECE MOUNTS

A01 Series

Table 1 — Specifications and Dimensions

Maximum Axial Load at Deflection Based on Plate Thickness
T - Thick Support Plate (Recommended) T - Thin Support Plate (Optional)
Part Number @ | Elastomer @
Thickness - T Load/Deflection ® Thickness - T Load/Deflection ®
in mm Ib at in N at mm in mm Ib atin N at mm
A0101-190 NR 0.375 9.5 40 at 0.05 178 at 1.3 / / / /
A0101-300 NR 0.375 9.5 90 at 0.05 400 at 1.3 / / / /
A0101-400 NR 0.375 9.5 140 at 0.05 623 at 1.3 / / / /
A0101-500 NR 0.375 9.5 250 at 0.05 1112 at 1.3 / / / /
A0101-630 NR 0.375 9.5 300 at 0.05 | 1334 at1.3 / / / /
A0102-240 NR 0.563 | 14.3 | 130 at0.07 578 at 1.8 0.500 |12.7| 60 at0.05 267 at 1.3
A0102-360 NR 0.563 14.3 175 at 0.07 778 at 1.8 0.500 |12.7]| 120 at0.05 534 at 1.3
A0102-470 NR 0.563 14.3 240 at 0.07 1068 at1.8 | 0.500 |12.7| 160 at 0.05 712 at 1.3
A0102-630 NR 0.563 14.3 380 at 0.07 1690 at1.8 | 0.500 |12.7| 260 at 0.05 1157 at 1.3
A0102-730 NR 0.563 | 14.3 | 630at0.07 | 2802at1.8 | 0.500 |[12.7| 380 at0.05 1690 at 1.3
A0103-360 NR 0.875 | 22.2 | 175at0.085 | 780 at 2.2 0.750 ]19.1( 100 at0.05 440 at 1.3
A0103-650 NR 0.875 | 22.2 | 300at0.085 | 1330 at2.2 | 0.750 |[19.1| 150 at0.05 670 at 1.3
A0103-830 NR 0.875 | 22.2 | 400 at0.085 | 1780 at2.2 | 0.750 |[19.1| 225 at0.05 1000 at 1.3
A0103-1000 NR 0.875 22.2 | 500 at0.085 | 2220 at2.2 | 0.750 |19.1| 325 at0.05 1450 at 1.3
A0103-1700 NR 0.875 22.2 | 725at0.085 | 3220at2.2 | 0.750 |19.1| 450 at 0.05 2000 at 1.3
A0104-780 NR 1.125 28.6 400 at 0.09 1780 at2.3 | 1.000 |25.4 | 200 at0.05 890 at 1.3
A0104-1050 NR 1.125 | 28.6 | 550at0.09 | 2450at2.3 | 1.000 |[25.4| 300 at 0.05 1330 at 1.3
A0104-1380 NR 1.125 | 28.6 | 700at0.09 | 3110at2.3 | 1.000 |25.4| 400 at0.05 1780 at 1.3
A0104-1730 NR 1.125 | 28.6 | 850at0.09 | 3780at2.3 | 1.000 |[25.4| 500 at0.05 2220 at 1.3
A0104-1860 NR 1.125 | 28.6 | 1000 at 0.09 | 4450 at2.3 | 1.000 |25.4| 600 at 0.05 2670 at 1.3
A0105-1500 NR 1.250 | 31.8 [ 675at0.08 | 3000 at 2.0 / / / /
A0105-2000 NR 1.250 | 31.8 [ 900 at0.08 | 4000 at 2.0 / / / /
A0105-2400 NR 1.250 | 31.8 | 1080 at 0.08 | 4800 at 2.0 / / / /
A0105-3000 NR 1.250 | 31.8 | 1350 at 0.08 | 6000 at 2.0 / / / /
A0106-2400 NR 1.250 | 31.8 [ 650at0.05 | 2880at1.2 / / / /
A0106-3000 NR 1.250 | 31.8 [ 810at0.05 | 3600at 1.2 / / / /
A0106-3750 NR 1.250 31.8 | 1015at0.05 | 4500 at 1.2 / / / /
A0106-5600 NR 1.250 | 31.8 | 1510 at0.05 | 6720 at 1.2 / / / /
Mounts only supplied by SKG. ® These loads are for on-highway Caution: When using the maximum bolt
® One P/N contains one top and one and general industrial applications.  torque listed a hardened (RB95)
bottom mount only. For off-highway, use 90% of the rebound washer and support member

©® NR = Natural Rubber load shown. should be used. A hardened washer

may be placed under the supported
member when the supported member is
not hardened.

15



SV GEE CATALOG B &

TWO-PIECE MOUNTS

Table 2 — Specifications

Recommended Bolt Information*
Series Number Size Grade or Class
English Metric SAE J429 | SAE J1199
A0101 3/8 M10 5 5.8
A0102 1/2 M12 8 10.9
A0103 5/8 M16 8 10.9
A0104 718 M20 8 10.9
A0105 1.0 M30 8 10.9
A0106 1.0 M30 8 10.9

* For tightening torque information, refer to Tightening Torque Charts section.

Table 3 — Specifications and Dimensions

) . Installation
Part Dimensions H Reference . .
Dimensions
Series Thick Thin
Number A B C Ref. D E F G Support | Support SD R Ref.
Plate Plate
in mm in mm| in [mm| in [mm]| in |mm in mm in mm| in {mm| in [mm]| in |mm| in [mm

A0101 1.31| 33.3| 0.402|10.2|0.58|14.7| 1.25|31.8| 0.79|20.1]| 0.485|12.3| 0.60|15.2|0.44(11.2| / / 0.75]19.110.04| 1.0
A0102 1.88| 47.8] 0.532|135(0.83|21.1| 1.94|49.3| 1.30(33.0| 0.78|19.8]| 0.835|21.2(10.69|175]0.72|18.3| 1.25(31.8|0.06| 1.5
A0103 255| 64.8]10.657|16.7|10.97|24.6| 2.43|61.7| 1.58|40.1| 0.90|229| 0.97(24.8]0.78(19.8(0.84|21.3] 1.50|38.110.09| 2.3
A0104 3.46| 87.910948|24.1)11.45|36.8| 2.88|73.0| 2.30|584| 1.00|254| 1.48(37.6]|0.88(224(0.94(239] 2.25|57.2]|0.12| 3.0
A0105 4.88|124.01 1.063 (32.0]|1.78| 45.1| 3.38|78.0| 2.55|685| 1.25(31.8| 1.49|45.0|1.00|254| / / 250|63.5(012| 3.0
A0106 4.88|124.01 1.063 (32.0]|1.78| 45.1| 3.38|78.0| 2.55|685| 1.25(31.8| 1.49|45.0|1.00|254| / / 250|63.5(012| 3.0

16



SI/AG e E CATALOG H %

TWO-PIECE MOUNTS

Figure 1 - Part Dimensions

D

Figure 2 — Installation View (Shown Under No Load)

AXIAL
LOAD AXIAL
DIRECTIO ,SUPPORTED LOAD
/K/MEMBER DIRECTIO SUPPORTED

MEMBER
| REBOUND P

H SUPPORTIN /

] M/G VEMBER WASHER |

I i)/, L)

T ] R T
() G g &

— \\F,{VE\E;OH:ED H K - I/KSUPPORTIN

g }”‘_SD* G MEMBER

17



SV GEE CATALOG B &

XA T e 2

XA RS

s AOTRS

BMEN A NRIREATHSHEMNSHETLIRANGE . BEFENBEMBIXNEDNTT
[a) (B Bt F2 AHBR A AN
RAXBHRBETZERH . EREZLAWELE, JUEREMERNTENEA,
(=) A e B 4 s 7+ IR WU 7

SR FEREAREW. FEABER. BN T,

FHEFIL
o ETTHRHR
o HfRREHIEE
o RVFRMANETY
o DIEMRES
o FAEMAIANTRMRE
o tRERBENE, WRERAR
o P TEMER, BREIRAR.
o KL EHE
o1& AT AN IR
o EAFMK TREMS
o 2%

18



SV GEE CATALOG B &

A01 27
# 1 -HAMERR T

B TR B B K B R R
BB | Bk T-EXX#iR GER) T-#SCH#R (k)
o @ BE-T B3R s Ae) EE-T 2 EsISiAe)
in mm Ib (&~} N (mm) in mm | Ib (Z&F) [N (mm)
A0101-190 NR 0.375 9.5 40@0.05 178@1.3 / / / /
A0101-300 NR 0.375 9.5 90@0.05 400@1.3 / / / /
A0101-400 NR 0.375 9.5 140@0.05 623@1.3 / / / /
A0101-500 NR 0.375 9.5 250@0.05 1112@1.3 / / / /
A0101-630 NR 0.375 9.5 300@0.05 1334@1.3 / / / /
A0102-240 NR 0.563 14.3 130@0.07 578@1.8 0.500 12.7 60@0.05 267@1.3
A0102-360 NR 0.563 14.3 175@0.07 778@1.8 0.500 12.7 120@0.05 534@1.3
A0102-470 NR 0.563 14.3 240@0.07 1068@1.8 0.500 12.7 160@0.05 712@1.3
A0102-630 NR 0.563 14.3 380@0.07 1690@1.8 0.500 12.7 260@0.05 1157@1.3
A0102-730 NR 0.563 14.3 630@0.07 2802@1.8 0.500 12.7 380@0.05 1690@1.3
A0103-360 NR 0.875 22.2 175@0.085 780@2.2 0.750 19.1 100@0.05 440@1.3
A0103-650 NR 0.875 22.2 300@0.085 1330@2.2 0.750 19.1 150@0.05 670@1.3
A0103-830 NR 0.875 22.2 400@0.085 1780@2.2 0.750 19.1 225@0.05 1000@1.3
A0103-1000 NR 0.875 22.2 500@0.085 2220@2.2 0.750 19.1 325@0.05 1450@1.3
A0103-1700 NR 0.875 22.2 725@0.085 3220@2.2 0.750 19.1 450@0.05 2000@1.3
A0104-780 NR 1.125 28.6 400@0.09 1780@2.3 1.000 25.4 200@0.05 890@1.3
A0104-1050 NR 1.125 28.6 550@0.09 2450@2.3 1.000 25.4 300@0.05 1330@1.3
A0104-1380 NR 1.125 28.6 700@0.09 3110@2.3 1.000 25.4 400@0.05 1780@1.3
A0104-1730 NR 1.125 28.6 850@0.09 3780@2.3 1.000 25.4 500@0.05 2220@1.3
A0104-1860 NR 1.125 28.6 1000@0.09 4450@2.3 1.000 25.4 600@0.05 2670@1.3
A0105-1500 NR 1.250 31.8 675@0.08 3000@2.0 / / / /
A0105-2000 NR 1.250 31.8 900@0.08 4000@2.0 / / / /
A0105-2400 NR 1.250 31.8 1080@0.08 4800@2.0 / / / /
A0105-3000 NR 1.250 31.8 1350@0.08 6000@2.0 / / / /
A0106-2400 NR 1.250 31.8 650@0.05 2880@1.2 / / / /
A0106-3000 NR 1.250 31.8 810@0.05 3600@1.2 / / / /
A0106-3750 NR 1.250 31.8 1015@0.05 4500@1.2 / / / /
A0106-5600 NR 1.250 31.8 1510@0.05 6720@1.2 / / / /
BEIR R IRE . ® XEHHEATABM—K T A YEAEREEABERARA
o —NEHBRBNEE— LI KA. ¥TEABNEA, BFEH AR, RFAELA
PRF— DT BB Frm#Eirh990%. (RB95) [EI## T EMF, S
® NR=KREEK HEGRELR, TRELHNZAK
BErEEIEMETA,

19



S G EE CATALOG B &
A R

7 2-1%

BB
RHS R~F &Y
B At SAE J429 SAE J1199

A0101 3/8 M10 5 5.8
A0102 1/2 M12 8 10.9
A0103 5/8 M16 8 10.9
A0104 718 M20 8 10.9
A0105 1.0 M30 8 10.9
A0106 1.0 M30 8 10.9
HREEHENER, 1550 B EEHER B5.
7 3-HAHEFIR S

FHRF HZ% TR
RIS A B Cs% D E F G JESHAR | BESCHRIR So R&%

in [mm | in |mm|in [mm| in [mm| in [mm| in [mm| in [mm]|in [mm|in [mm| in [mm| in [mm

A0101 1.31| 33.3| 0.402|10.2(0.58|14.7|1.25 [31.8|0.79 | 20.1| 0.485| 12.3| 0.60| 15.2|0.44|11.2| / / 0.75]|19.1|0.04| 1.0
A0102 1.88| 47.8]0.532(135)10.83|21.1|1.94 [49.311.30 |33.0] 0.78|19.8] 0.835|21.210.69|17.5(0.72|18.3| 1.25|31.8|0.06| 1.5

A0103 255| 64.8| 0.657|16.7|0.97 | 246|243 | 617|158 [ 40.1| 0.90|229| 0.97|248]|0.78(19.8]10.84|21.3| 1.50(38.1|0.09| 2.3

A0104 3.46| 87.9|10.948|24.1|1.45|36.8|2.88 |73.0/12.30 | 58.4| 1.00|254| 148|37.6|0.88(224]1094|239| 2.25|57.2|0.12| 3.0
A0105 4.88(124.0| 1.063 (27.0|1.50(38.1|3.38 | 859|255 | 64.8| 1.25|31.8| 1.49|37.8|106|269| / / 250|635(012( 3.0
A0106 4.88(124.0| 1.063 (27.0|1.50(38.1|3.38 | 859|255 | 64.8| 1.25|31.8| 1.49|37.8|106|269| / / 250|635(012( 3.0

20



SI/AG e E CATALOG E 3¢

XA T e 2

H1-BHRT
D
LN N
o L1l {GE oG oA
) R S — G}C
F2-2RUE (EREHE)
1
BEHE I
e .
BETE
Hy | //i%ﬁ BIREA .
I Il .|
I (1) k)
,‘/ [ l_L R T IL
AU I
LU\ ) U
U Nmzma g T s
=Sy g,

21



SV GEE CATALOG B &

TIGHTENING TORQUE

English Units — Coarse Theard Series

hrend GRADE 1 GRADE 2 GRADES5, 5.1 & 5.2 | GRADES 8, 8.1 & 8.2
S | camp [1TS| P TGTTS) iy (197 | gy [T
Pitch |Load (Ib) (ft_‘ﬂb) 0b) (ft?lb) Load (Ib) (ftf]Ib) Load (Ib) (ftf*lb)
6-32 | 225 052 375 0.86 579 133 818 1.88
8-32 | 347 0.95 578 158 893 2 44 1260 3.44
10-24 | 433 137 722 2.29 1116 353 1575 4.99
12-24 | 599 2.16 998 3.59 1543 555 2178 7.84
14-20 | 787 3.28 1312 547 2027 8.45 2862 119
5/16-18| 1297 6.75 2162 113 3341 174 4716 24.6
3/8-16 | 1918 120 3197 20.0 4941 309 6975 43.6
7116 - 14| 2631 19.2 4385 32.0 6777 49.4 9567 69.8
12-13 | 3512 293 5853 48.8 9046 75.4 12771 106
9/16 - 12| 4505 42.2 7508 70.4 11603 109 16380 154
5/8-11 | 5594 583 9323 97.1 14408 150 20340 212
3/4-10 | 8267 103 13800 173 21293 266 30060 376
7/8-9 | 11435 167 11435 167 29453 430 41580 606
1-8 | 14999 250 14999 250 33633 561 54540 909
1-1/8-7 | 18884 354 18884 354 42347 794 68670 1288
11/4-7| 23983 500 23983 500 53780 1120 87210 1817
13/8-6 | 28586 655 28586 655 64103 1469 | 103950 | 2382
112-6 | 34774 869 34774 869 77978 1949 | 126450 | 3161

Tightening Torque =K*D * P
where: K= 0.2 (dry, unlubricated)
D = Nominal Thread Size

P (Clamp Load) = 75% of the Proof Load

22



SV GEE CATALOG B &

TIGHTENING TORQUE

Metric Units — Coarse Theard Series

CLASS 4.6 CLASS 5.8 CLASS 9.8 CLASS 10.9
Thread Size |Clamp |Tightening| Clamp |Tightening| Clamp |Tightening| Clamp |Tightening
& Pitch Load Torque Load Torque Load Torque Load Torque
(kN) (N*m) (kN) (N*m) (kN) (N*m) (kN) (N*m)
M6 x 1 341 4.09 5.73 6.87 9.80 11.76 12.5 15
M7 x 1 4.90 6.86 8.24 115 14.1 19.72 18.0 25
M8 x 1.25 6.20 9.93 104 16.7 17.8 28.55 22.8 36
M10 x 1.5 9.8 19.7 16.5 33.1 28.3 56.55 36.1 72
M12 x 1.75 | 14.3 34.3 24.0 57.7 41.1 98.63 525 126
M14 x 2 19.5 54.6 32.8 91.8 56.1 157 71.6 200
M16 x 2 26.6 85.2 447 143 76.5 245 97.7 313
M18 x 2.5 325 117 54.7 197 93.6 337 120 430
M20 x 2.5 41.5 166 69.8 279 119 478 153 610
M22 x 2.5 514 226 86.4 380 148 650 189 830
M24 x 3 59.8 287 101 483 172 826 220 1055
M27 x 3 77.8 420 131 706 224 1208 286 1543
M30 x 3.5 95.1 571 160 959 273 1641 349 2095
M33 x 3.5 118 776 198 1305 338 2233 432 2851
M36 x 4 138 997 233 1676 398 2868 509 3662
M39 x 4 165 1290 278 2170 476 3711 608 4739

Tightening Torque =K*D * P
where: K= 0.2 (dry, unlubricated)
D = Nominal Thread Size

P (Clamp Load) = 75% of the Proof Load

The values presented in these tables are representative and have been compiled for the user’s benefit.
Results can be influenced by any number of variables including 1) excessive lubrication, 2) excessive
design clamp load, 3) nicked or binding threads, 4) non-parallel mating surfaces, and 5) inadequate torque
control, to name a few. Therefore, SKG expressly disclaims liability of any kind associated with the
application of the data shown herein.

23



SV GEE CATALOG B &

TIGHTENING TORQUE

English Units — Fine Theard Series

Thread GRADE 1 GRADE 2 GRADES5,5.1 & 5.2 | GRADES 8,8.1 & 8.2
Size & Clamp |Tightening| Clamp |Tightening Clamp Tightening Clamp Tightening
Pitch Load Torque Load Torque Load (Ib) Torque Load (Ib) Torque
(Ib) (ft-Ib) (Ib) (ft-1b) (ft-Ib) (ft-1b)
6-40 251 0.58 419 0.96 647 1.49 914 2.10
8-36 365 1.00 608 1.66 940 2.57 1327 3.63
10-32 495 1.57 825 2.61 1275 4.04 1800 5.70
12-28 639 2.30 1064 3.83 1645 5.92 2322 8.36
1/4 - 28 901 3.75 1502 6.26 2321 9.7 3276 13.7
5/16 - 24 | 1436 7.48 2393 12.5 3698 19.3 5220 27.2
3/8 - 24 2173 13.6 3622 22.6 5597 35.0 7902 49.4
7/16 - 20 | 2938 21.4 4896 35.7 7567 55.2 10683 77.9
1/2 - 20 3958 33.0 6596 55.0 10194 84.9 14391 120
9/16 - 18 | 5024 47.1 8374 78.5 12941 121 18270 171
5/8 - 18 6336 66.0 10560 110 16320 170 20340 240
3/4 - 16 9232 115 15375 192 23779 297 33570 420
7/8 -14 | 12598 184 12598 184 32449 473 45810 668
1-12 16409 273 16409 273 36797 613 59670 995
1-1/8-12 | 21186 397 21186 397 47508 891 77040 1445
1-1/4 - 12 | 26557 553 26557 553 59552 1241 96570 2012
1-3/8 - 12 | 32546 746 32546 746 72983 1673 118350 2712
1-1/2-12 | 39130 978 39130 978 87746 2194 142290 3557

Tightening Torque =K*D * P
where: K= 0.2 (dry, unlubricated)
D = Nominal Thread Size

P (Clamp Load) = 75% of the Proof Load

24



SV GEE CATALOG B &

TIGHTENING TORQUE

Metric Units — Fine Theard Series

CLASS 4.6 CLASS 5.8 CLASS 9.8 CLASS 10.9
Thread Size |Clamp |Tightening| Clamp |Tightening| Clamp |Tightening| Clamp |Tightening

& Pitch Load | Torque Load Torque Load Torque Load Torque
(kN) (N*m) (kN) (N*m) (kN) (N*m) (kN) (N*m)
M8 x 1 6.64 10.6 11.2 17.9 19.1 30.6 244 39.0
M10x 1.25 | 10.4 20.7 17.4 34.9 29.8 59.7 38.1 76.2
M12 x 1.25 | 15.6 375 26.2 63.0 44.9 108 57.3 138
M14 x 1.5 21.2 59.3 35.6 100 60.9 171 77.8 218
M16 x 1.5 28.3 90.6 47.6 152 814 261 104 333
M18 x 1.5 36.6 132 61.6 222 105 379 134 484
M20 x 1.5 46.1 184 77.5 310 133 530 169 677
M22 x 1.5 56.4 248 94.9 418 162 714 207 912
M24 x 2 65.1 312 109 525 187 899 239 1147
M27 x 2 84.1 454 141 763 242 1306 309 1667
M30 x 2 105 632 177 1062 303 1816 387 2319
M33 x 2 129 851 217 1431 371 2449 474 3127
M36 x 3 147 1056 247 1775 422 3036 538 3877
M39 x 3 175 1362 294 2290 502 3917 641 5001

Tightening Torque =K*D * P
where: K= 0.2 (dry, unlubricated)
D = Nominal Thread Size

P (Clamp Load) = 75% of the Proof Load

The values presented in these tables are representative and have been compiled for the user’s benefit.
Results can be influenced by any number of variables including 1) excessive lubrication, 2) excessive
design clamp load, 3) nicked or binding threads, 4) non-parallel mating surfaces, and 5) inadequate torque
control, to name a few. Therefore, SKG expressly disclaims liability of any kind associated with the
application of the data shown herein.

25



SV G EE

CATALOG Hx
2 X EHER
Kt - tHTHEX
1% 2% 5. 5.1§15.24% 8. 8.1F18.24%
$REL WmEH | REHE | KL | REHE | mEH | REHE | mEH | REHE
(Ib) (ft-Ib) (Ib) (ft-Ib) (Ib) (ft-1b) (Ib) (ft-1b)
6-32 225 0.52 375 0.86 579 1.33 818 1.88
8-32 347 0.95 578 1.58 893 2.44 1260 3.44
10-24 433 1.37 722 2.29 1116 3.53 1575 4.99
12-24 599 2.16 998 3.59 1543 5.55 2178 7.84
1/4 - 20 787 3.28 1312 5.47 2027 8.45 2862 11.9
5/16 - 18 1297 6.75 2162 11.3 3341 17.4 4716 24.6
3/8-16 1918 12.0 3197 20.0 4941 30.9 6975 43.6
7/16 - 14 2631 19.2 4385 32.0 6777 49.4 9567 69.8
1/2-13 3512 29.3 5853 48.8 9046 75.4 12771 106
9/16 - 12 4505 42.2 7508 70.4 11603 109 16380 154
5/8 - 11 5594 58.3 9323 97.1 14408 150 20340 212
3/4-10 8267 103 13800 173 21293 266 30060 376
7/8 -9 11435 167 11435 167 29453 430 41580 606
1-8 14999 250 14999 250 33633 561 54540 909
1-1/8 -7 18884 354 18884 354 42347 794 68670 1288
1-1/4 -7 23983 500 23983 500 53780 1120 87210 1817
1-3/8-6 28586 655 28586 655 64103 1469 103950 2382
1-1/2 -6 34774 869 34774 869 77978 1949 126450 3161

EEAE=K*D*P

Hr:

K=0.2 (F#, FKE8)

D=#RFRIELA /N
P (MEH) =RIEFRFTAIT5%

26




SV GEE CATALOG B &

2 X EHER

A - HFIEX

4.63% 5.8% 9.83% 10.93%
L)Y WEH | BEHE | mEh | BEHE | #ghH | REHE | @mEhH | REHE
(kN) (N*m) (kN) (N*m) (kN) (N*m) (kN) (N*m)
M6 x 1 3.41 4.09 5.73 6.87 9.80 11.76 12.5 15
M7 x 1 4.90 6.86 8.24 115 14.1 19.72 18.0 25
M8x 1.25 | 6.20 9.93 10.4 16.7 17.8 28.55 22.8 36
M10x15| 9.8 19.7 16.5 33.1 28.3 56.55 36.1 72
M12x1.75| 14.3 34.3 24.0 57.7 41.1 98.63 52.5 126
M14 x 2 19.5 54.6 32.8 91.8 56.1 157 71.6 200
M16x2 | 26.6 85.2 44.7 143 76.5 245 97.7 313
M18x25 | 325 117 54.7 197 93.6 337 120 430
M20x 2.5 | 415 166 69.8 279 119 478 153 610
M22x25 | 51.4 226 86.4 380 148 650 189 830
M24x3 | 59.8 287 101 483 172 826 220 1055
M27x3 | 77.8 420 131 706 224 1208 286 1543
M30x3.5 | 95.1 571 160 959 273 1641 349 2095
M33x3.5 | 118 776 198 1305 338 2233 432 2851
M36 x 4 138 997 233 1676 398 2868 509 3662
M39 x 4 165 1290 278 2170 476 3711 608 4739

EEAE=K*D*P

Hei: K=02 (T8 KHEBE)
D=ARIRERLLAR /N
P (EAN) =RIEHETHIT5%

TP o # T E, TEASE LEERTEREFEZENZN, BiF 1) ZLEE 2) IX
HIRITET), 3) ROAVIFREIEXILIE, 4) BLEZETFiT, KR 5) HAELERIZS. B, BE
B 7 B TR FE S U Ao BB B KA E 1T (o

27



SV GEE CATALOG B &

2 X EHER

T - TR

1% 2% 5. 5.1F15.24% 8. 8.1F18.2%%
1RE WESH | REME | WmEH | BEHE | HiEH | EEHE | mEH | EEHAE
(Ib) (ft-1b) (Ib) (ft-1b) (Ib) (ft-1b) (Ib) (ft-1b)
6-40 251 0.58 419 0.96 647 1.49 914 2.10
8-36 365 1.00 608 1.66 940 2.57 1327 3.63
10 - 32 495 1.57 825 2.61 1275 4.04 1800 5.70
12 - 28 639 2.30 1064 3.83 1645 5.92 2322 8.36
1/4 - 28 901 3.75 1502 6.26 2321 9.7 3276 13.7
5/16 - 24 1436 7.48 2393 12.5 3698 19.3 5220 27.2
3/8-24 2173 13.6 3622 22.6 5597 35.0 7902 49.4
7/16 - 20 2938 21.4 4896 35.7 7567 55.2 10683 77.9
1/2 - 20 3958 33.0 6596 55.0 10194 84.9 14391 120
9/16 - 18 5024 47.1 8374 78.5 12941 121 18270 171
5/8 - 18 6336 66.0 10560 110 16320 170 20340 240
3/4 -16 9232 115 15375 192 23779 297 33570 420
7/8 - 14 12598 184 12598 184 32449 473 45810 668
1-12 16409 273 16409 273 36797 613 59670 995
1-1/8 - 12 21186 397 21186 397 47508 891 77040 1445
1-1/4 - 12 26557 553 26557 553 59552 1241 96570 2012
1-3/8 - 12 32546 746 32546 746 72983 1673 118350 2712
1-1/2 - 12 39130 978 39130 978 87746 2194 142290 3557

REHE=K*D*P

Hepr K=02 (T, RxEB)
D=ARIRERLLA /N
P (MEN) =RIERFTHIT5%

28



SV GEE CATALOG B &

2 X EHER

A - BFIEX

4.63% 5.83% 9.83% 10.93%
L)Y WEH | BEHE | mEH | BEHE | mEH | REHE | #mEH | REHE
(kN) (N*m) (KN) (N*m) (kN) (N*m) (KN) (N*m)
M8 x 1 6.64 10.6 11.2 17.9 19.1 30.6 24.4 39.0
M10x 1.25| 10.4 20.7 17.4 34.9 29.8 59.7 38.1 76.2
M12x1.25| 15.6 375 26.2 63.0 44.9 108 57.3 138
M14x15 | 21.2 59.3 35.6 100 60.9 171 77.8 218
M16x 15 | 28.3 90.6 47.6 152 81.4 261 104 333
M18x 1.5 | 36.6 132 61.6 222 105 379 134 484
M20x 1.5 | 46.1 184 77.5 310 133 530 169 677
M22x15 | 56.4 248 94.9 418 162 714 207 912
M24x2 | 65.1 312 109 525 187 899 239 1147
M27x2 | 84.1 454 141 763 242 1306 309 1667
M30 x 2 105 632 177 1062 303 1816 387 2319
M33 x 2 129 851 217 1431 371 2449 474 3127
M36 x 3 147 1056 247 1775 422 3036 538 3877
M39 x 3 175 1362 294 2290 502 3917 641 5001

EEE=K*D*P

Hr: K=02 (F8&, KEE)
D=ARFRERLIK /)
P (&) =RIEHETAT75%

FHIII N HEE, TRAFSE, XGARTEXEFIFELENZN, B 1) ZZ690E 2) IX
HIRITET), 3) ROFVIFREIEXILIE, 4) BERE1FiT, KR 5) HAELRIZS. B, BE
B 7 B TR FE S U AP BB B KA E 1T (o

29



SKG RMRIEA B 5 097~ G I e R .
BT HRWE SNSRI TEHRNR, AERREHOBEATESEE. NFRASRREARNER~MAE, BKESKG
HE.

AXHRENESHETIRNNN. BT SKC TEEHETCALRMAFRAXLERER, FbAASHFARIET UREGEAMHER. 1t
Sh, MRFREERE=TT (BREFRTEEA~ROREMF) ENES, W SKGCFRIES RIS ERA”RAXELRE
MR . ANSHAN ™ M E RN ERSRMNERENEHEEZE B EBEETRRIARRIE,

RE SKGMPEITY, FTENEARRIFRERLIRDNERRAES. FH&. BxX. ERRRAFTHEIWENERIES.
AEFPOESENRMEES, BRBH, SKGCHRFKIEAMEENTE.

A part’s listing in this catalog does not guarantee its immediate availability.

Values stated herein represent typical values as not all tests are run on each lot of material produced. For formalized product
specifications or specific product end uses, please contact SKG Sales team.

Information provided herein is based upon tests believed to be reliable. In as much as SKG has no control over the manner in which
others may use this information, it does not guarantee the results to be obtained. In addition, SKG does not guarantee the performance
of the product or the results obtained from the use of the product or this information where the product has been repackaged by any
third party, including but not limited to any product end-user. Nor does the company make any express or implied warranty of
merchantability or fitness for a particular purpose concerning the effects or results of such use.

No part of this publication may be reproduced, transmitted, transcribed, stored in a retrieval system or translated into any language in
any form by any means without written permission of SKG.

The information and specifications in this catalog are subject to change without notice, and SKG assumes no responsibility for such
occurrences.

SUG #E

BE (M) BIRRZFRAS
A EHMNTIRNIXHREFERE LY EFX
B11% :0514-8786 4996

Kuigu (Yangzhou) Vibration Control System Co.,Ltd.
Shuangtang industrial Concentration Zone, Ganquan Street,
Hanjiang District, Yangzhou City, Jiangsu Province, PRC
Tel: 86-0514-8786 4996

© 2024 - SKG Mi#XFfE . Printed in CHINA (Rev.03 2024/03/13)



